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Continuity equation
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Momentum equation
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Where B is drag by the porous media:
Bi = *’}/RC . UZ

Advection-Diffusion equation
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Equation for turbulent kinetic energy
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Where Pj is the turbulence production due to wind
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shear.

Equation for dissipation of turbulent kinetic en-

ergy
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Eddy diffusivity

Ft = Vg = CN? (6)

parameters

Cy =144, C, =1.92, 4, = 1.0, 5. = 1.3, C,, = 0.09
(7)

3 ACrUogoooboooon

ACFODOOO0D00OO0O0O0DOO0O0DDOOODOOOODON
0000000000000 0O0ACFOODODODOODOOO
O0o0O0o0oOoooooooboACFODOODODOO
NOxOOOOOOoooooooooooooood

3.1 ACFOUODONOxODOOO

O00O0O0OO0OO0OOACFO 0.1gdOD0O 03gDh0O0O0OO
O08mmO00000 300mL/min0000000000O0
O0000000O0O0OACFO NOxOOOOOOOOOO
ogooooOoOoOoboOoOooooooooooooe.ooot:
0000000000 O00DOO0tOoOoDOOoDoOn
ooooooooooOOoO0G,0C,,, 0000

ac

dt
O0D0D000k=4[s"Y0000O

0000 (D000D000000)000000000000000
oobooooooooooooa, 2002

= —kC, Cout = Cinexp(—kt) (8)
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B = = auV + BpV?
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B:—%@:mu R. = au (10)
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